EARAROBEEIERT — 2 N— IBISH —F

20145 7H48 (£) 4m)IB58

KM >%3m% 11 30FAKH

‘ [Riz] & ‘

[EERRE] — | 4 (&) 1400M FHE

[A~&£] 1 7% :1,100,000  ~ 23 :330,000 37 :198,000 "

4 7% 132,000 53 :110,000 [

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R IHEEEZ :31. -1-1- . — ERE=E (1]5)
1 4| T7ENVF YT s 5.0 1(3_1)8 R ’ (4_127) ANES
R:vagrh7 B V7ML Z RO
S . 3 | A 1:32.5 2-2-2-2 | 40.9| — 1 438 | EBAMEIZ (J1116)
20 7|7 | NIVEZRFA B # 54.0 @) (=) | B ~NEZRT T4
L:g4=/FXLLy b B:RE2—U—F1 b NIVEL RN T7—L4
_ = SEER : -7-8- — FEME (11E)
31111143/ I8=27+« S 1'(3533'5 MR R ? :?:)) TEEE
R:AAaoy Ly B:A4YauvwrTr =it
SWESTIR 4 3 | FHEFEE 1:33.8 6-5-6-6 |41.8| — 3 427 | BRI#FE (1108)
sfde| ¥7v>~ 54.0 (1 1/2) (g |FFE
R:T7LRATAv IS4 N BV NE—T chit PR
N FREZ :33. -3-3- X — NAAZ (1)
5 o | NIV Ty 3 s 1(733t§a 4-3-3-3 | 42.0 6 (4E3; LA
LA FNELT b B2 A< — B JE—
§ P . oy ] _ FIEAER (J1108)
6lalg|avzreL7 "3 R L7 IR R Y | mEm
RL:hriZ— B:LI-—I V1l HRE All%S
SIS S # 3 | EFEER 1:34.7 5-3-4-3 |42.8| — 8 439 | LiBExE (J118)
7 3|vzrvIrzx 54.0 (1/2) 0 |=&%E
ARZX R N=IN— BRDARTAT Rt TN —-Z2Tt%
. N s 3 | HmEY 1:35.5 3-6-5-7 |43.7| — 5 457 | ARS (JI1)
8189 JL—Jja4 56.0 (4) (—) |RBES
L:xridnaO— B:TVF1—AT— Eite]
S jt 3 | BEBA 1:35.9 8-8-8-8 |43.9| — 7 389 | BRE/IE (1)
9|5|5 | NI 54.0 @ (-7 | FllFx
LT RIAYT w8y BiRE—T4—1— B BR
® I—F—@EBIERL
|S=7r= 4,7,9,2,3,6,8,5,1
Ao=5"= 4,7,(2,3),6,9,1,5,8
3a—+— |4,7,2,3,9,(6,8),(1,5)
41—F— 4,7,(2,3),1,6,9, (5,8)
[ RN
B 4 5,040/ 794K 4-7 1,690M & 4-7 6,580 &R 1-4-7 4,820/
B 4 1,260 1-4 2,500/ | | # H 4-7 14,060 | | 3EE 4-7-1 116,650/
7 1004 1-7 180H B = 4-7 8,530M
1 1309 B H 4-7 24,340

ABICOVWTRDTEEERROODE. TR LIV,




